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TNPSC GROUP i MAIN EXAM – 2023 
WALKIN TEST I MODERN INDIA and APTITUDE & MENTAL ABILITY  

 
Total Marks: 100              Time: 1 ½ hrs 
 

Section A 
4 x 10 = 40 

Answer the following in 150 words each 
 

1. What are the salient features of Indian Independence Act 1947 
,e;jpa Rje;jpur; rl;lk; 1947,d; Kf;fpa mk;rq;fs; ahit? 
 

2. Enlist the contribution of V.V.S. Iyer to National Movement and Tamil Literature. 
Njrpa ,af;fj;jpw;Fk; jkpo; ,yf;fpaj;jpw;Fk; V.V.S. Iah; Mw;wpa gzpfis gl;baypLf 

 
3. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 
a. From a well shuffled pack of 52 cards, one card is drawn at random. Find the probability 

of getting  
i. a red king  
ii. a non-face card of black color  
iii. a number card 
ed;F fiyj;J mLf;fg;gl;l 52 rPl;Lfs; nfhz;l rPl;Lf;fl;bypUe;J rktha;g;G Kiwapy; 
xU rPl;L vLf;fg;gLfpwJ> mJ 
i. rptg;G epw ,uhrh 
ii. fUg;G epw Kf rPl;lhf ,y;yhky; 
iii. vz; rPl;lhf 
,Ug;gjw;fhd epfo;jfit fhz;f 
 

b. Two dice are thrown simultaneously. Find the probability of getting:  
i. a total of at least 10 
ii. a doublet of even number  
,uz;L gfilfs; xd;whf cUl;lg;gLfpd;wd. gpd;tUtdtw;wpd; epfo;jfit fhz;f 
i. $Ljy; Fiwe;jgl;rk; 10 Mf ,Uf;f 
ii. xNu Kfkjpg;G nfhz;l ,ul;il vz;fs; fpilg;gjw;fhd epfo;jfit fhz;f 

 
4. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 
a. What is the least possible number of 5 digits which divisible by all the number 32, 36 and 

40. (5m) 
32> 36 kw;Wk; 40 Mfpa vz;fshy; kpfr; rhpahf tFgLk; kpfr;rpwpa Ie;J ,yf;f 
vz;izf; fhz;f. 
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b. The LCM of two numbers is 28 times of their HCF. The sum of their LCM and HCF is 
1740. If one of the numbers is 240, find the other number. (5m) 
,uz;L vz;fspd; kP.ngh.k> kP.ngh.t Nghy; 28 klq;F. kP.ngh.k> kP.ngh.t tpd; $l;Lj; 
njhif 1740 MfTk;> Xh; vz; 240 Mf ,Ug;gpd;> kw;nwhU vz;izf; fhzTk;. 

 
 

SECTION B 
4 x 15 = 60 

 

Answer the following in 250 words each 
 

5. Discuss the origin and the growth of communalism in British India.  
Mq;fpy ,e;jpahtpy; tFg;Gthjj;jpd; Njhw;wk; kw;Wk; mjd; tsh;r;rp Fwpj;J tpthjp 

 
6. Write a note on Government of India Act 1919.  

,e;jpa murhq;f rl;lk;> 1919 gw;wp Fwpg;G tiuf 
 

7. In the Annual sports meet, among the 260 students in a school, 90 participated in Kabadi, 
120 participated in Hockey, and 50 participated in Kabadi and Hockey. A Student is selected 
at random.  Find the probability that the student participated in   
i. Either Kabadi or Hockey    
ii. Neither of the two tournaments,  
iii. Hockey only  
iv. Kabadi only   
v. Exactly one of the tournaments. (15m) 
Mz;L tpisahl;L Nghl;bapy; 260 khzth;fspy;> 90 Ngh; fgb Nghl;bapYk;> 120 Ngh; `hf;fp 
Nghl;bapYk; kw;Wk; 50 Ngh; ,uz;L Nghl;bapYk; fye;Jnfhs;fpd;wdh;. xU khztd; 
rktha;g;G Kiwapy; Njh;e;njLf;fg;gLfpd;whd;. Njh;e;njLf;Fk; khztd;  
i. fgb my;yJ `hf;fp 
ii. ,uz;L Nghl;bapYk; fye;J nfhs;tjw;fhd 
iii. `hf;fpapy; kl;Lk; 
iv. fgbapy; kl;Lk; 
v. rhpahf xd;wpy; kl;Lk; 
 
fye;J nfhs;tjw;fhd epfo;jfT fhz;f 
 

8. Answer the following questions 
gpd;tUtdtw;wpw;F tpilasp 
 

a. Find the HCF and LCM of 
9

10
, 

12

25
, 

18

35
 and 

21

40
 (9m) 
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 kw;Wk; 

21

40
 Mfpatw;wpd; kP.ngh.fh (HCF) kw;Wk; kP.ngh.k (LCM) fhz;f.  

 
b. Seven bells commence tolling together, afterwards they toll at intervals of 2, 4, 6, 8, 10, 20, 

30 seconds respectively. How many times do the seven bells toll together in 20 
minutes?(6m) 
7 kzpfs; Kjypy; xd;whf mbf;Fk;. gpd;dh; mit xt;nthd;Wk; 2> 4> 6> 8> 10> 20 kw;Wk; 
30 tpdhbfs; ,ilntsp tpl;L mbf;Fk; vd;why;> 20 epkplj;jpy; vj;jid Kiw VO 
kzpfs; xd;whf Nrh;e;J xypj;jpUf;Fk;? 

 
 
 


